
 © Copy right 2013, Au-ve-co Prod ucts Co. "SINCE 1916" THE  COM PLETE  FAS TENER LINE 301

“6500” SE RIES LARGE DRAWER “FIX-KITS”® Sec. 15

No. 6541 “Fix-Kit”
U.S.S. Grade 5

Cap Screws With Nuts
Zinc Plated
15 Va ri et ies

270 Screws - 270 Nuts

Auveco
Part No. Size

5434 1/4”-20 x 1/2"
5436 1/4”-20 x 3/4”
5438 1/4”-20 x 1”
5440 1/4”-20 x 1-1/2”
5449 5/16”-18 x 3/4”
5451 5/16”-18 x 1”
5453 5/16”-18 x 1-1/2”
5455 5/16”-18 x 2”
5465 3/8”-16 x 1”
5466 3/8”-16 x 1-1/4”
5467 3/8”-16 x 1-1/2”
5469 3/8”-16 x 2”

15586 1/4”-20 Hex Nut
15587 5/16”-18 Hex Nut
15588 3/8”-16 Hex Nut

No. 6514 “Fix-Kit”
Met ric Reg u lar Pitch
Cap Screws & Nuts
DIN 931 & DIN 933

Zinc Plated
15 Va ri et ies - 128 Pieces

Auveco
Part No. Size

14424 M8-1.25 x 40mm
14425 M8-1.25 x 45mm
14426 M8-1.25 x 50mm
14431 M10-1.50 x 25mm
14432 M10-1.50 x 30mm
14433 M10-1.50 x 35mm
14434 M10-1.50 x 40mm
14436 M10-1.50 x 50mm
14440 M12-1.75 x 25mm
14441 M12-1.75 x 30mm
14442 M12-1.75 x 35mm
14443 M12-1.75 x 40mm
14452 M8-1.25 Nut
14454 M10-1.50 Nut
14455 M12-1.75 Nut

No. 6540 “Fix-Kit”
Met ric Body Bolts & Nuts

10 Va ri et ies of Bolts
5 Va ri et ies of Ex truded “U” Nuts

3 Va ri et ies of Free Spin ning
Washer Nuts

2 Va ri et ies of Hex Flange Nuts
254 Pieces

Auveco 
Part No. Size

12693 M6-1.0 x 20mm
12324 M6-1.0 x 20mm
12160 M6-1.0 x 22mm
12065 M6-1.0 x 25mm
12066 M6-1.0 x 25mm
12335 M6-1.0 x 28mm
17388 M8-1.25 x 20mm
13613 M8-1.25 x 25mm
13614 M8-1.25 x 30mm
11641 M10-1.50 x 40mm
11644 M8-1.25 Hex Flange Nut
11645 M10-1.5 Hex Flange Nut
12595 M6-1.0 Free Spin Wshr Nut
15329 M6-1.0 Free Spin Wshr Nut
15335 M8-1.25 Free Spin Wshr Nut
12669 M6-1.0 Ex truded “U” Nut
12575 M6-1.0 Ex truded “U” Nut
11630 M8-1.25 Ex truded “U” Nut
11629 M8-1.25 Ex truded “U” Nut
11631 M10-1.5 Ex truded “U” Nut

No. 6513 “Fix-Kit”
Met ric Reg u lar Pitch 
Cap Screws & Nuts

DIN 933
Zinc Plated

16 Va ri et ies - 236 Pieces

Auveco
Part No. Size

14400 M4-.7 x 16mm
14401 M4-.7 x 20mm
14402 M5-.8 x 10mm
14403 M5-.8 x 16mm
14404 M5-.8 x 20mm
14405 M5-.8 x 25mm
14408 M6-1.0 x 16mm
14409 M6-1.0 x 20mm
14410 M6-.10 x 25mm
14420 M8-1.25 x 20mm
14421 M8-1.25 x 25mm
14422 M8-1.25 x 30mm
14448 M4-.7 Nut
14449 M5-.8 Nut
14450 M6-1.0 Nut
14452 M8-1.25 Nut

No. 6532 “Fix-Kit”
Stain less Steel Cap Screws, 

Nuts & Wash ers
24 Va ri et ies - 660 Pieces

Auveco
Part No. Size

 

13346 1/4"-20 x 1/2"
13347 1/4"-20 x 3/4"
13348 1/4"-20 x 1"
13349 1/4"-20 x 1-1/4"
13350 1/4"-20 x 1-1/2"
13352 1/4"-20 x 2"
13354 5/16"-18 x 3/4"
13355 5/16"-18 x 1"
13356 5/16"-18 x 1-1/4"
13357 5/16"-18 x 1-1/2"
13359 5/16"-18 x 2"
13364 3/8"-16 x 1"
13365 3/8"-16 x 1-1/4"
13366 3/8"-16 x 1-1/2"
13368 3/8-16 x 2"
13234 1/4"-20 Hex Nut
13235 5/16"-18 Hex Nut
13236 3/8"-16 Hex Nut
13395 Bolt Size: 1/4" Flat Wshr
13396 Bolt Size: 5/16" Flat Wshr
13397 Bolt Size: 3/8" Flat Wshr
13403 Bolt Size: 1/4" Lock Wshr
13404 Bolt Size: 5/16" Lock Wshr
13405 Bolt Size: 3/8" Lock Wshr

Please Or der In

Unit Package

Quantities

Not Num ber Of

Pieces


